# COMPARATIVE STATEMENT AND PURCHASE RECOMMENDATION / PROPOSAL

HIRING OF SECURITY AGENCY FOR DOW LABS. & OTHER FACILITIES OF DOW UNIVERSITY OF HEALTH SCIENCES

TECHNICAL BIDS OPENED ON 29 JANUARY 2019 --- FINANCIAL BIDS OPENED ON 16 APRIL, 2019 NIT No. DUHS/DP/2019/64-65 (Ref: DUHS/DP/2019/65) Dated 9 January, 2019

Remarks / Attachment	APPENDIX - 5 (A)	APPENDIX - 5 (B)	APPENDIX - 5 (C)		
Grading	1	2	е		
Total Marks (Best Evaluated) (A + B)	83.50 79.70				76.19
Financial Marks Lowest Price / Quoted Price x 30 (B)	22.60	30.00	22.99		
Total Bid Amount Including Taxes for Mandatory Items Including Taxes	24,459,600.00	18,429,600.00	24,047,760.00		
Technical Marks* (A)	6.09	49.7	53.2		
Name of Bidder	Safety & Security Services (Pvt.) Latd.	Achtung Security (Private) Limited	Omer Razzaq Enterprises (Pvt.) Ltd.		
Sr. #	01.	02.	03.		

Technical Marks = Technical Point Score of respective bidder x 0.7

# RECOMMENDATION / REMARKS

Recommended to award the contract to M/s. Safety & Security Services (Pvt.) Ltd. being the best evaluated bid.

M/s. Achtung Security (Private) Limited had not quoted the salary / rates in accordance with the Labour & Human Resource Department, Government of Sindh's Notification No. L-II-13-3/2016 Dated 08-10-2018 and Sindh Minimum Wages Act 2015.



DR. AMIR RAZA ABEDI Deputy Medical Superintendent SM88 Trauma Centre

MBBS Dip Derm (UK) FCPS (Pak)
Principal DIMC & Pro Vice Chancellor Dow University of Health Sciences Prof. Zarnaz Wahld

# HIRING OF SECURITY AGENCY FOR DOW LABS. & OTHER FACILITIES OF DOW UNIVERSITY OF HEALTH SCIENCES

NIT No. DUHS/DP/2019/64-65 (Ref: DUHS/DP/2019/65) Dated 9 January, 2019

### M/s. Safety & Security Services (Pvt.) Ltd.

### MANDATORY REQUIREMENT

S#	Particulars	Red	ı. Qty	Monthly Service Charges for Each	Total Monthly Service Charges
1.	2.		3.	4.	5. (3 X 4)
1	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Ex-Armed Forces (NCO) preferably fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	3	Nos.	28,450.00	85,350.00
2	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Trained Civilian Age 30 years to 45 years For 12 Hrs.	1	No.	22,950.00	22,950.00
3	Lady Searcher Trained Civilian Age 35 years to 45 years For 08 Hrs.	2	Nos.	20,750.00	41,500.00
4	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	10	Nos.	27,750.00	277,500.00
5	Security Guard (Unarmed) Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	5	Nos.	27,500.00	137,500.00
6	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines. Trained Civilian Age 25 years to 45 years For 12 Hrs.	70	Nos.	21,050.00	1,473,500.00
	MONTHLY CHARGES (IN PAK RS.) Including all the taxes				2,038,300.00
	TOTAL CHARGES FOR 12 MONTHS (IN PAK RS.) Including all the taxes				24,459,600.00

Prof. Zarnaz Wahld

Prof. Zarnaz Wahld

Prof. Derm (UK) Pcrs (Pak)

MBBS DIP. Capro Vice Chancelor. AMIR RAZA ABEDI

MBBS DIP. Capro Vice Chancelor. Leputy Medidal Superintendent

Sivib Trauma Centre

Sivib Trauma Centre

Karachi

Dow University Karachi.

Direct Lindred School

### 2 OPTIONAL / ON REQUIREMENT BASIS

### 2.1 Requirement of Additional Guards

S#	Particulars	Charges for Each
j,	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Armed with Automatic / Semi-automatic / rapid-fire weapon	1,200.00
ii.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)	1,000.00
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian) Armed with Automatic / Semi-automatic / rapid-fire weapon	1,000.00
iv.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	800.00
ν.	Rate Per Day for 1 x Mobile Vehicle for Escort	12,000.00

### 2.2 Per Day Rates of Allied Security Equipment

S#	Particulars	Charges for Each
i.	Hand -Held Metal Detector (Rate per Item including taxes)	60.00
ii.	Car-Search Mirror (Rate per Item including taxes)	70.00
iii.	Walk Through Gate (Rate per Item including taxes)	9,000.00
iv.	Vehicle Scanner (Explosive detector) (Rate per Item including taxes)	Not Quoted

## SUMMARY OF TOTAL BID PRICES

S#	MANDATORY	Amount in Pak Rs.	
i.	12 x months amount for total Shift Incharge / Supervisors / Security Guards / Lady Searchers	24,459,600.00	
	Sub Total – A (Mandatory)	24,459,600.00	

S#	OPTIONAL ON REQUIREMENT BASIS	Amount in Pak Rs.	
i.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,700.00	
ii.	ii. Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)		
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian) Armed with Automatic / Semi-automatic / rapid-fire weapon	1,500.00	
iv.	Rate Per Day for Ly additional Armed Security Guard (Trained Civilian)		
v.	Rate Per Day for 1 x Mobile Vehicle for Escort	12,000.00	
vi.	Rate Per day Hand -Held Metal Detector	60.00	
vii.	Rate Per day Car-Search Mirror	70.00	
viii.	Rate Per day Walk Through Gate	9,000.00	
ix.	Rate Per day Vehicle Scanner	Not Quoted	
	Sub Total – B (Optional On Requirement Basis)	27,080.00	
	(GRAND TOTAL (A + B) Including Taxes in Pak Rs.	24,486,680.00	
Pro MBRS Princip Do	Chandra Wohld  Chancellor  Chip. Derm (UK) FCPS (Pak)  Chancellor  Chip. Derm (UK) FCPS (Pak)  Chancellor  Chip. Derm (UK) FCPS (Pak)  Chancellor  Cha	27,080.00 24,486,680.00 Page 2 of	

Prof Lacra Wohld

MBR Dip. Derm (UK) FCPS (Pak)

Perpainal Prince MURK Dip. Derm (UK) FCFS (Fak)
Principal DIMC & Pro Vice Chancellor
Dow University of Health Sciences
Dow University Arachi

# HIRING OF SECURITY AGENCY FOR DOW LABS. & OTHER FACILITIES OF DOW UNIVERSITY OF HEALTH SCIENCES

NIT No. DUHS/DP/2019/64-65 (Ref: DUHS/DP/2019/65) Dated 9 January, 2019

### M/s. Achtung Security (Private) Limited

### 1 MANDATORY REQUIREMENT

S#	# Particulars F		q. Qty	Monthly Service Charges for Each	Total Monthly Service Charges
1.	2.		3.	4.	5. (3 X 4)
1	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Ex-Armed Forces (NCO) preferably fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	3	Nos.	21,500.00	64,500.00
2	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Trained Civilian Age 30 years to 45 years For 12 Hrs.	1	No.	19,800.00	19,800.00
3	Lady Searcher Trained Civilian Age 35 years to 45 years For 08 Hrs.	2	Nos.	16,000.00	32,000.00
4	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	10	Nos.	17,700.00	177,000.00
5	Security Guard (Unarmed)  Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)  Age 25 years to 55 years  For 12 Hrs.	5	Nos.	17,500.00	87,500.00
6	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines. Trained Civilian Age 25 years to 45 years For 12 Hrs.	70	Nos.	16,500.00	1,155,000.00
	MONTHLY CHARGES (IN PAK RS.) Including all the taxes				1,535,800.00
	TOTAL CHARGES FOR 12 MONTHS (IN PAK RS.) Including all the taxes				18,429,600.00

Prof. Zarnaz Wahld

Prof. Zarnaz Wahld

Prof. Dorm (UK) PC Chancellor

MBBS Dip. Dorm (UK) Pc Chancels

MBBS Dip. Dorm (UK) Pc Chancels

MBBS Dip. Dorm (UK) Pc Chancels

Deputy Medical Superintencient

Deputy Medical Superintencient

SMBB Trauma Centre

Karachi

Threstor Finance Sciences

### OPTIONAL / ON REQUIREMENT BASIS

### 2.1 Requirement of Additional Guards

S#	Particulars	Charges for Each
i.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Armed with Automatic / Semi-automatic / rapid-fire weapon	900.00
ii.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)	
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	
iv.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian) Armed with Automatic / Semi-automatic / rapid-fire weapon	700.00
v.	Rate Per Day for 1 x Mobile Vehicle for Escort (Suzuki / Ravi / Bolan	5,000.00

### 2.2 Per Day Rates of Allied Security Equipment

S#	Particulars	Charges for Each
i.	Hand -Held Metal Detector (Rate per Item including taxes)	200.00
ii.	Car-Search Mirror (Rate per Item including taxes)	300,00
iii.	Walk Through Gate (Rate per Item including taxes)	7,000.00
iv.	Vehicle Scanner (Explosive detector) (Rate per Item including taxes)	5,000.00

### SUMMARY OF TOTAL BID PRICES

S#	MANDATORY	Amount in Pak Rs.
i.	12 x months amount for total Shift Incharge / Supervisors / Security Guards / Lady Searchers	18,429,600.00
	Sub Total - A (Mandatory)	18,429,600.00

S#	OPTIONAL ON REQUIREMENT BASIS	Amount in Pak Rs.
i.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)  Armed with Automatic / Semi-automatic / rapid-fire weapon	900.00
ii.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)	900.00
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	700.00
iv.	Rate Per Day for Ly additional Armed Sequetty Count (Toring) Civilian	
v.	Rate Per Day for 1 x Mobile Vehicle for Escort	5,000.00
vi.	Rate Per day Hand -Held Metal Detector	200.00
vii.	Rate Per day Car-Search Mirror	300.00
viii.	Rate Per day Walk Through Gate	7,000.00
ix.	Rate Per day Vehicle Scanner	5,000,00
	Sub Total – B (Optional On Requirement Basis)	20,700.00
	GRAND TOTAL (A + B) Including Taxes in Pak Rs.	18,450,300.00
eer	Prof. Zarnaz Wahld  Prof.	20,700.00 18,450,300.00 Page 2 of

MBBS Dip. Derm (UK) FCPS (Pak)

MBBS Dip. Derm (UK) FCPS (Pak)

Principal DIMC & Pro Vice Chancel Deputy Medical Superintendent

SMRF Trauma Control

Kerachi.

### HIRING OF SECURITY AGENCY FOR DOW LABS. & OTHER FACILITIES OF DOW UNIVERSITY OF HEALTH SCIENCES

NIT No. DUHS/DP/2019/64-65 (Ref: DUHS/DP/2019/65) Dated 9 January, 2019

### M/s. Omer Razzaq Enterprises (Pvt.) Ltd.

### MANDATORY REQUIREMENT

S#	Particulars	Rec	ı. Qty	Monthly Service Charges for Each	Total Monthly Service Charges
1.	2.		3.	4.	5. (3 X 4)
1	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Ex-Armed Forces (NCO) preferably fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	3	Nos.	26,000.00	78,000.00
2	Supervisor (Armed) With 9mm Pistol with 2 loaded magazines Trained Civilian Age 30 years to 45 years For 12 Hrs.	1	No.	24,000.00	24,000.00
3	Lady Searcher Trained Civilian Age 35 years to 45 years For 08 Hrs.	2	Nos.	21,500.00	43,000.00
4	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	10	Nos.	22,548.00	225,480.00
5	Security Guard (Unarmed) Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Age 25 years to 55 years For 12 Hrs.	5	Nos.	21,500.00	107,500.00
6	Security Guard (Armed) With 9mm Pistol / MP5 Semi-automatic with 2 loaded magazines. Trained Civilian Age 25 years to 45 years For 12 Hrs.	70	Nos.	21,800.00	1,526,000.00
	MONTHLY CHARGES (IN PAK RS.) Including all the taxes		734		2,003,980.00
	TOTAL CHARGES FOR 12 MONTHS (IN PAK RS.) Including all the taxes				24,047,760.00

Training all the taxes

Including all the taxes

Including all the taxes

Prof. Zarnaz Wahld

Prof. Zarnaz Mala Prof. Pr

Dow University of Heatin Sciences

### OPTIONAL / ON REQUIREMENT BASIS

### 2.1 Requirement of Additional Guards

S#	Particulars	Charges for Each
i.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers) Armed with Automatic / Semi-automatic / rapid-fire weapon	1,500.00
ii.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)	1,500.00
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,200.00
iv.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,200.00
v.	Rate Per Day for 1 x Mobile Vehicle for Escort	12,000.00

### 2.2 Per Day Rates of Allied Security Equipment

S#	Particulars	Charges for Each
i.	Hand -Held Metal Detector (Rate per Item including taxes)	150.00
ii.	Car-Search Mirror (Rate per Item including taxes)	150.00
iii.	Walk Through Gate (Rate per Item including taxes)	3,000.00
iv.	Vehicle Scanner (Explosive detector) (Rate per Item including taxes)	1,300.00

# SUMMARY OF TOTAL BID PRICES

S#	MANDATORY	Amount in Pak Rs.
i.	12 x months amount for total Shift Incharge / Supervisors / Security Guards / Lady Searchers	24,047,760.00
-84	Sub Total - A (Mandatory)	24,047,760.00

S#	OPTIONAL ON REQUIREMENT BASIS	Amount in Pak Rs.
i.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,500.00
ii.	Rate Per Day for 1 x additional Armed Security Guard. Ex-Armed Forces preferably from fighting arms (Infantry, Armored Corp, Air Defence, Engineers Corp, FC, Rangers)	1,500.00
iii.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,200,00
iv.	Rate Per Day for 1 x additional Armed Security Guard (Trained Civilian)  Armed with Automatic / Semi-automatic / rapid-fire weapon	1,200.00
v.	Rate Per Day for 1 x Mobile Vehicle for Escort	12,000.00
vi.	Rate Per day Hand -Held Metal Detector	150,00
vii.	Rate Per day Car-Search Mirror	150.00
viii.	Rate Per day Walk Through Gate	3,000.00
ix.	Rate Per day Vehicle Scanner	1,300.00
	Sub Total - B (Optional On Requirement Basis)	22 000 00

GRAND TOTAL (A + B) Including Taxes in Pak Rs.

MBBS Dip. Derm (UK) FCPS (Pak)

MBBS Dip. Derm (UK) FCPS (Pak)

Principal DIMC & Pro Vice Changes

Principal Dimc & Pro V

DOW Unite Stilly of Fig. 22,000.00